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Class- Matric 

Subject-Social Science 

Code-4 

Tithe: 3 Hrs 	 M.M : 85 

f4br :— 

General Instructions :- 

1. 42.41- - 11-1-4 31• wall 	-4 I 
Candidates are required to give their answer in their own words as far as practicable. 

2. 43Q1 22.7VZ4-1 	g' -.11.1)- 	i 31fl414 Pr: 

There are thirty-two questions in all. All questions are compulsory. 

3. 1145m -.kcz.fr  1 -)• io 	t1 1.1c. 	q;1 qq, 	cot t 

Questions Sr. No. 01 to 10 are objectives type questions of 1 mark each. 

4. lP'41 •-•- iLc-ell 11 	l 16 -(14) 31R .og 	 -4) 	.45T 	I tZ3-1,1 4)-1- 	30 1,s4)*-  

31N-5 .•:1.sj,. '0\1;11 X11 	i 

Questions from Sr. No. 11 to 16 are very short answer questions. These questions should 

not be exceed thirty words each. 

5. Y,11-  17 Z 27 -(1-45- 	 --ctq 	ciff 	I -R)̀174 4)1 \3-ck 50 	60 

' -1z4).1) -4.  I 
Questions from Sr. No. 17 to 27 are short type answer of 3 marks answer of these 

questions should not exceed 50 to 60 words each. 

6. • :WI 	28 . 4 ;31 	 1 	id cbf 3'..R 120 R4 1301.s.ct c14) 

Questions No. 28 to 31 are long answer type questions. 6 marks each questions. Answer 

of these questions should not exceed 120 to 130 words each. 

7. 3P'q 	32 A .41170----,1 	---3.1'1f4/ 3 31-45)-  451 t 	qp4o- 	 t 311 	32 B 

*3i--c•O 451 	3N 4,4 .,,j-C1ORI r lclzdr yI 11t I '41 	-;71-c0).  R t 311-1t -■T.T.FR 	c151 	Atrq 

410 I 
Questions No. 32 (A) is Map question of 3 marks from geography and question No. 

32(B) is also of 3 marks from History. Attached the filled up maps inside your answer 

book. 

8. - .1 4-pf Q.  • -;1—.1. 1. 	 Tr4 t, 3-cN .H1Z -cot 	Tia W49-- 

err .rou.Tir 31-Pqr4 t 

While answering your questions, you must indicate on your answer book the same 

question no. 

.-414 avAi-A.  IF-4v 	;-; 1g))%,..  

Donot leave any blank pages in your answer sheet between your answers. 

(1) 
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-411 	-a i Tic Y4C 46-  N-6-11t-16 	3ii‹)61 •-c-11-41? TT T~111 

Which movement did Candhiji hch against the Rowlatt Act? 

31Rubk 	(4) 

Who invented the first Printing Press? 

IMO 4)1 1-Wc-ii 	 3K'AGIN 	Ni flt 211? 

Name the first Indian news paper publication? 

tfA. 4,t(1 41 1q-1(11 	. 4) 4)'00, ant 	■)110) 

Which chief crop is grown in black soil? 

4) 	\-)1Q1 4)1 14)C1" i I 11yic1 1114! CdClu11.2-1 	:Y1C-'1 

What percentage of the total water available on earth is salty? 

-4>1 tt)--flc4 qlka 11 RPfl 	:mi; . 6110 

When are Rabi crops grown in India? 

-c12.,11 	14)th:16 .640-11 

Agriculture, Dairy and Fishery are examples of which Economic Sector? 

54.8 	WTO 'chi Lj,1 

What is the full form of WTO? 

- 	 .(01 	. 02,c-1 1 -)c1') 

How many states are there in India? 

	

4)4041-)1 	1).0 qt1 ci -41-4? 

When was Indian National Congress established? 

-qv 

	

	 o'Lti 3aq1L1 	c16'1‘.;" - 41 	fiq I 

Define Globalization? Give any two advantages? 

9.12 	W4)-R C/. N1-  rc.1)-1H‘l• n fi:)„(i. 	Dy.  1.4,y 	 -4a451-71-11-  

Enlist the various institutional reform programmes introduced by the government in the 

interest of farmers. 

.1TH 	IL 	iii ci •-<-1k uH) 	311tfla 	50 ft--A-q1-41-  t-3-11-1-- 	

ci4(2) 

Assume there are four students in class. The average weight of these students are 50 

Kg. If the weight of three students is 40, 70, 30 respectively what is the weight of the 

40, 70 3N 30 14)- c:)11: 	 4)1 'UV 14)(1,11 0411? 

(2) 
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fourth students. 

.14 	Lic11?-0) 	e-Lick-11 	 cf';i•l 2 	 (2.) 

What are the three level of Panchyati Raj System? 

K15 	 -N>) 4 1 (NSS) 	 q)\)I-11 err a--b 	 zfrzi-rf .  t Trt 

<clt 	 (2) 

What is the symbol of (NSS) National Service Scheme based on. What massage does 

it gives to us? 

R16 	31TL1 chi LI1c311(;11 	-3W- NI q6iq•I M 4)c) 4)1. 4 ICY•1 3f1 tcrlS7 	61-41-4 cffkerci V41-2 WAU:1 

b 	
(2) 

A Disaster Management Committee has been set up in your school. State what are the 

duties of this committee. 

V.17t) 	 ,̀"A )t•l ch) 	.4 1-amil l 3Hioe11ir 	 Lti -Fc-;11 i 	TT 1(3) 

Why did Gandhiji decide to with draw the Non-Co-operation movement? 

14.18 	 '‘ . 40 	 311q 	3114)-(k 	 U)3. 	3T-Fr 

4>)ail 	311LI 31k(1 	 .45W-if 0I-mq I 	 (3) 

You are a student of Vietnam. Most of your classmate have left the school and you too 

are thinking to do the same. What are the reasons to take this decision? 

R19 	3c1;z4k1 	 1.(11 -0)) 	'411- 71N 01T-1 -41 	 qzfr 

TAUT 2)? 	 (3) 

Despite Novels bring the modern form of liberation, why did the Indian stay away for 

them? 

V.20 	.R14, f f 	(Ifctchl --(b) 	1-') 4 ', 111R5.4(1 	-..1) 43. 	 I 

Observe the following diagram and answer the question that follow. 

990 
	

2000 
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(1) 	gq 1950 .1‘1 	 \30-11:( 
	

GDP) e,)%i 	q(Z-1-14 13f .4(). 	 % 2fi1? 

What was the share of the primary sector in GDP in the year 1950? 

(ii) -Elq 2000 	0)-11 cj 1—  14i4%114144) 	fN-k-tf5cf % c1 31d 3ThT 

By what percentage did the share of tertiary sector and primary sector change in the 

(3)
\ 

 

c‘/5 LiLiHc,1 	(1;7 	(.11(.,1 	311 	 --A-(1 4 1.13ift-H.4-.4 ci-ga 111-)11 	6)-d-1 

31t-N.ei'd 
c 
	.44)21H1 (-1> 	3-tiq cH-11 31-11L1 4j41-.? 

	
(3) 

You are resident of hilly area of Solar) district. Every year a lot of soil erosion takes place 

in the rainy season. What steps you will take to stop the erosion? 

.ct()I PNW -c1)- 	 -0711q 	afrq 	3TE-F4- 31RT-tn-Ri- 	b) 

List a few example of environment degradation that you may have observed around you. 

	

V.23 	'61-of 	0'1 	̀11 •i 	.citl 2030 ci(4>61Q-1 .cif?) 31-(MR-Icf) ..1") 41) C.0)- 	flc.r\-) 	 31111 

toic4 .,11Dy 

"Water is Life". Keeping in view the scarcity we are going to face by he year 2030. What 

step you will take to conserve it? 

1c W1 CHL1 1(4->ki (4-) V4Ina 4)-(11. 	 (.3) 

How does the social division influence/affect development in our country? 

	

v.25 	. 1311■)1 4(11.  31"H Ov-10 	HID(1 	414)1-116.  311.-4')T1 	q-{kcfiR1-  c,1) 	Lk TIT v4-flu 

1-1 1 
	

(.3) 

What are the affects of the Jan Lok Pal movements started by the social activist Anna 

Hazare on Indian democracy. 

	

\.iuNfwii (Global warming) ''Ii) 	11) q12-ict) alltred 	14ftui 	-0 

L3) 
Global Warming is more dangerous than Tsunami. What steps should we take to stop 

global warming. 

R27 	qtRafl  of  c.wq 	361,4-5- 	 {4-)fl M T cbc) 3fTW fl41$1c) 	3111--M311 

) 
	

(3  

A lot of accident (Transport) take place in India. It is what type of disaster you think? How 

will you stop them? 

v.28 	-U-jt 1111 )(1 	 31-dra 	 317,17 	ftzti I(§) 

Explain why the port of Surat decline by the end of the eighteenth century. 

year 2000? 
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fin 	. 11.44i (0 (Organic Aggriculture) c fwR.-ra f -741-  TRH' t 1 14-11z-lci 

R;ly 31q•1 t1 ncr 1.riRsiy I 	 (6) 

Organic farming had been developed in Sikkim, suggest ways to develop it in Himachal 

Pradesh. 

	

V.30 	3111T ycb. -6111Nqq, 	 ,--10 611-61H 	 4Tal -45T 

I 	 (6) 

Being an aware consumer what main things will you keep in mind while buying things in 

the market? 

	

W.31 	q--1111Nd 	(-1)(M1711 (1 	1.111 h 	lira cb) 	024 	-611 	--(1)• 	(-PT 

G1(11 	 C6) 

Can L.ok Sabha and Vidhan Sabha elections be conducted simultaneously in India? If 

so, what are its merits and demerits. 

	

3i.32 	 W4P1 	 - 4)) 	 (Tr.,[14 .41-R 
	

(6) 

	

(A) (1) 	-611Li . 304.Nci.) 	1-\iiq 

(2) Y.?pi‘l 	(410 - 1 1(11 

(3) 'y1 LO 

(A) (i) Tea producing two state 

(ii) Holy River of the Hindus 

(iii) Rahstrapati Bhawan 

(B) 	(1) ,,1--i141o1 421 '4)1 1141 

(2) lika 	.41 {ZW1 q■̀-i) 	I.  4)1 rfiil 

(3) 3fl 	-(151..1141 '1'14)(1 -c0 60 -ff-tinqi 	311-c)-  

World 

(B) (i) Country where cricket originate() 

(ii) India's neighboring country in the South. 

(iii) Country where maximum earthquakes take place. 

(5) 
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